THRISEE

AL C LK
b5 2, Ti2YBEsE _— COD¥E® (B(HE#ER) ML TEE(TEERX)
) St.1 EHR-BER I A) RFKEEREEE (/)
—iRIEH _
7Kim (°C)
1 _XE [KE(CC) =B hE 2IKiR A Fiin 18 R
48 Eh 18.7 16.2 15.9 13.5 5.0 BE kER-th| &|E
68 g 24.9 23.2 22.6 12.1 5.5 BE kER-h| |R
8H N 26.2 26.5 26.5 12.5 7.6 BE kER-E| BR
108 =Y 225 25.0 25.0 12.3 2.5 Gk Exe-E| ER
128 Eh 15.0 16.9 16.8 13.3 6.6 BE kER-E| BR
28] BEh 10.6 12.0 12.0 13.6 74 BE | HEe-R| H#E
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
=%lE] 7.8~83] 5.0LLE | 30LLF — ERH 0.6LLF_| 0.05LLF
THE(75%IE) - 8.5 1.7(2.0) - <0.5 0.36 0.023
4H == 8.2 9.7 1.0 = <0.5 0.23 0.016
th & 8.2 8.8 1.1 - - - -
65 =B 8.0 7.7 2.0 - <0.5 0.20 0.013
th & 8.1 7.8 1.6 - - - -
8 g =B 8.1 7.3 2.3 - <0.5 - -
th & 8.0 7.6 2.2 - - - -
108 =B 8.0 8.2 1.8 - <0.5 0.41 0.032
th & 8.0 8.5 2.1 - - - -
128 =B 8.1 9.2 1.9 - <0.5 0.61 0.031
th & 8.1 9.5 1.9 - - - -
25 =B 8.0 9.0 1.2 - <0.5 - -
B 8.1 8.9 1.0 - - - -
BEEIER (REDAEHA
INSPINIES DS ED oA L IS fikeR |[7ZrxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#EE] 001 | FE#H [ 001LLF [ 005LLF | 001LLF [0.0005LLF | FEHEH JERRH |
E{E]  <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
47 - - - - - - - -
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
8H - - - - - - - -
108] <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
128 - - - - - - - -
28l - - - - - - - -
ooyoni| mie [1,2->900] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,12-ry4a | RSO0
"y &R IRy IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EfE]  <0.002 ] <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
478 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8H - - - - - - - -
108] <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
28l - - - - - - - -




Fh5490n(1,3-o450 = St FARY oo, a8 . MREERRY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #{E] 0.01LLTF | 000260 F | 0.006LLF | 0.003LLF | 0.02LLF | 001LLF | 001LLF | 10LLF
E{E]  <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.13
47 - - - - - - - -
68| <0001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.01
8H - - - - - - - -
108] <0001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.25
128 - - - - - - - -
2A] - - - - - - - -
ZDhIEE
IV L
Jx/—) R SS 2% (snakiLhA 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHME - - 2 <0.005 - -
=B - - 1 - - -
4H ;E _ _ 2 — — —
—_ —_ 2 —_ —_ —_
- - 5 <0.005 - -
—_ —_ 4 —_ —_ —_
10R ; E - - 3 - - -
—_ —_ 1 —_ —_ —_
12R th S - - e - - -
=E - - <1 - - -
-ty I . .
(mg/1) (mg/1) (mg/1)
E¥IE] 18000 <0.01 0.02
48 == 19000 - <0.01
th8 20000 - -
65 == 19000 <0.01 <0.01
th[E 19000 - -
=B 18000 - -
8A —mE T 19000 . .
== 17000 - 0.02
10A th S 18000 - -
== 17000 - 0.02
124 th S 18000 - -
=B 18000 - -
2R —mm [ 19000 = =



THRISEE

A L C LK
b5 2, T2y B _— CODEH |B(##BI&) ML TEE(FEER)
" St.2 EX-HEY I (EER) KERKEREESE (V)
—iRI5E _
K& (°C)
1 _XE [KE(CC) =B fE 2 KE FERE iR 18 R
48 g 18.7 16.1 - 17.3 5.5 BE kER-th| &|E
68 g 26.6 23.0 - 15.8 7.5 BE Exf-E| &R
8H N 26.4 25.9 — 16.7 9.3 BE kER-%| BR
108 £ 22.5 25.0 - 16.0 3.3 BE x| ER
128 Fh 15.6 16.9 - 17.1 6.5 BE kER-E| BR
28| #Eh 10.7 12.5 - 134 7.2 BE | HEe-R| #E
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
=%E] 7.8~83] 50LLE | 30LLF — ERH 0.6LLF_| 0.05LLF
B (75%IE) - 8.4 1.5(1.7) - <0.5 0.17 0.016
48 == 8.2 9.0 1.0 - <0.5 0.21 0.014
hE - - - - - - -
65 == 8.2 7.8 1.9 - <0.5 0.14 0.010
hE - - - - - - -
8H == 8.2 7.0 1.7 - <0.5 0.11 0.009
8.0 8.5 1.6 - <0.5 0.16 0.018
10A ;E = = = — — — —
8.1 9.2 15 - <0.5 0.17 0.018
12R th B = = = = = — —
25 == 8.1 8.8 1.0 - <0.5 0.25 0.029
fE - - - - - - -
BEEE (REBDHEHA)
NP INIESDY & & Ao L IS Mk |(7rxLKkEB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 001LLTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
47 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - - -
ooyoni| mie [1,2->900] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,1,2-ry4a | )00
"y B&R IRy IFLY oaITFLY oT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000200 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 L F | 0.03LLF
EF_EE — — — — — — — —
47 - - - - - - - -
68 - - - - - - - -
8A - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - - -




FrS40a(1,3-24n — . —paes FAARL Sa s .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| H#E{E] 0.01LLF [0.002L0F [ 0.006LLF | 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
| FEHE - - - - - - - -

48 - - - - - - - -
68 - - - - - - - -
8A - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2B - - - - - - - -
ZNfth1E H
Iz/—) i SS 2ER |soofkus| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHME - - 1 - - -
=B - - 1 - - -
—_ —_ ‘I —_ —_ —_
6 ﬁ ;E _ _ _ _ — —
—_ —_ 2 —_ —_ —_
8 ﬁ ;E _ _ _ _ — —
—_ —_ 2 —_ —_ —_
10A ; E — — = — — —
—_ —_ 2 —_ —_ —_
124 ; E — — = — — —
—_ —_ <1 —_ —_ —_
2R i — — - — — —
Bl | BEEE ) ome
(mg/1) (mg/1) (mg/1)
EBTE] 19000 - 0.01
EE] 19000 - <0.01
19000 - <0.01
19000 - -
18000 - <0.01
10A ; E ~ — =
19000 - 0.01
124 ; E ~ — ~
19000 - -
2R i = — —



THRISEE

A L C LK
5 2, Ty &R — COD#EE! [A(E#EH) ML TEE(ZOMDXE)
" St.3 EXR-BED I @B R) KFRKEREESE (=)
—iRIEH _
K& (°C)
1 _XE [KE(CC) =B fE 2 KE A Fiin 18 R
48 Eh 19.4 15.9 15.3 28.5 5.5 BE kER-th| &|E
68 N 26.1 22.8 22.8 18.2 7.0 BE Exf-E| ER
8H g 26.1 26.0 25.7 21.4 10.5 BE Exf-E| &R
108 £l 22.8 25.0 25.0 20.0 3.3 BE TR #BR
128 Eh 15.5 18.4 18.4 18.9 5.3 BE kER-h| E|R
28] BEh 10.1 12.0 125 20.1 1.6 BE | HEe-R| H#E
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
%8| 1.8~83] 715LLE | 20LLF | 1000LLF | FEiRH 0351 F_| 0.03LLF
B (75%IE) - 8.4 1.4(1.6) 12 <0.5 0.16 0.013
4H == 8.2 8.9 1.3 = <0.5 0.20 0.013
th & 8.2 8.9 1.4 - - - -
65 =B 8.1 7.8 1.6 0.0 <0.5 0.14 0.008
th & 8.1 7.9 1.9 - - - -
8 g =B 8.1 7.0 1.7 - <0.5 - -
th & 8.2 7.1 1.6 - - - -
108 =B 8.0 8.6 1.2 23 <0.5 0.13 0.014
th & 8.0 8.6 1.4 - - - -
128 =B 8.1 9.2 1.3 - <0.5 0.16 0.018
th & 8.1 9.1 1.3 - - - -
25 =B 8.1 9.1 1.0 - <0.5 - -
B 8.1 8.9 1.0 - - - -
BEEE (REBDHEHA)
NP INIESD & & Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 001LLF | JE#H | 001LLF | 005LLF | 001LLF [0.0005LLF | JERH JERRH |
EfE]  <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
478 - - - - - - - -
68| <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
8A - - - - - - - -
108] <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
128 - - - - - - - -
2Al - - - - - - -
ooyoni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,12-ry4a | RSO0
"y &R IRy IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF [0.002u0F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
478 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8AH - - - - - - - -
108] <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
2Al - - - - - - -




Th3Ho0a|1,3-S4H0 = [N FARY S . WREERRU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| ZL#E{E] 0.01LLF [0.0020F | 0.006LLF | 0.003LATF [ 0.02LLF | 0.018LF | 0.01LLF | 10LLF
[ EE] <0.001 ] <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.01
4R - - - - - - - -
68| <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
8H - - - - - - - -
10A]| <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.01
128 - - - - - - - -
2A] - - - - - - - -
ZDhIEE
IV L
Jx/—)L gl SS SEHR | JOOFRIVL| 5 ok
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 1 <0.005 - -
=B - - <1 - - -
4ﬁ ;E _ _ .I _ _ _
—_ —_ 1 —_ —_ —_
- - 2 <0.005 - -
—_ —_ 2 —_ —_ —_
10R ; E - - 3 - - -
—_ —_ <1 —_ —_ —_
12R ; E - - ] - - -
—_ —_ <1 —_ —_ —_
Eie HIHERME . .
(mg/1) (mg/1) (mg/1)
FEHIE| 19000 <0.01 0.01
48 EAC] 19000 — <0.01
B 20000 - -
65 EAE] 19000 <0.01 <0.01
B 19000 - -
EAE] 19000 - -
8R %@ [ 18000 - -
EAE] 18000 - <0.01
10A th S 16000 - -
EAE] 19000 - 0.01
128 th S 19000 - -
EAE] 19000 - -
2R —mm [ 19000 = =



THRISEE

A L C LK
i 2 TRy 8msE — COD¥ER! | A(F#EBIA) ML TEE(ZOMDXE)
" St.4 EXR-BED I GGEBR) KFRKEREESE (=)
—iRIEH _
K& (°C)
1 _XE [KE(CC) =B fE 2 KE A Fiin 18 R
48 g 20.5 15.4 14.8 28.6 7.0 BE kER-E| BR
68 g 23.8 22.9 22.4 24.1 13.0 BE Exkfa-h| &R
8H Eh 25.9 26.3 25.8 24.5 8.2 BE k-2 ER
108 £ 22.5 25.0 25.0 24.7 35 BE x| ER
128 Fh 15.7 18.4 18.4 25.9 6.6 BE Exfe-E| &R
2 Eh 10.4 12.0 13.0 25.1 6.6 BE kER-E| EBR
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEME| 78~83| 75LLF | 20LLF | 1000LIF | JEieth 0351 F_ | 0.03LLF
B (75%IE) - 8.3 1.3(1.5) - <0.5 0.17 0.014
48 == 8.1 9.0 1.0 - <0.5 0.26 0.018
th8 8.1 9.1 1.2 - - - -
65 == 8.1 7.1 15 - <0.5 0.11 0.008
th8 8.1 7.2 1.4 - - - -
8H == 8.1 6.9 1.6 - <0.5 - -
th8 8.1 7.0 1.6 - - - -
108 =B 8.0 8.6 1.3 - <0.5 0.14 0.014
th & 8.0 8.6 1.6 - - - -
128 EAC] 8.1 9.2 1.4 - <0.5 0.16 0.017
th8 8.1 9.2 1.3 - - - -
25 == 8.1 8.6 1.1 - <0.5 - -
thE 8.1 9.0 0.9 - - - -
BEEE (REBDHEHA)
NP INIESY & ED Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 0018LTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2 —_ —_ —_ —_ —_ —_ —_ —_
ooyoni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,12-ry4a | RSO0
Ay &R IRy IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8A - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - -




FrS4aA|1,3-C4Hn - . aes FAA: R .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Z#E{E] 0.01LLF [0.00280F [ 0.006LLF [ 0.003LLF [ 0.02LLF [ 0.01LLF [ 0.01LLF [ 10LLF
EF_EE — — — — — — — —
a8 - - - - - - - -
6A[ - - - - - - - -
sA[ - - - - - - - -
10A] - - g g B - - -
12A] - - g g B - - -
2 —_ —_ —_ —_ —_ —_ —_ —_
ZOHEE
IV L
Jz/—) 7] SS ey |(sookILA FLFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EIHE - - 1 - - -
=E - - 1 - - -
—_ —_ ‘I —_ —_ —_
—_ —_ 3 —_ —_ —_
8 ﬁ ;E _ _ _ _ — —
—_ —_ 2 —_ —_ —_
10A ; E — — = — — —
—_ —_ ‘I —_ —_ —_
128 ; E — — — — — —
—_ —_ <1 —_ —_ —_
28 —2E - - s - - -
fi‘ﬁ@ iggﬁ B
(mg/1) (mg/1) (mg/1)
SEI9TE| 19000 - 0.01
=B 19000 = <0.01
19000 - <0.01
19000 - —
18000 - <0.01
10A ; E ~ — =
19000 - 0.01
128 ; E ~ — ~
19000 - —
28 —2E 2 - -




THRISEE

A L C LK
5 2, Ty & — CODEH B(E#R) ML T ER(FHEARX)
" St.5 EXR-HEY I (ES) feFRKEREREE (/\)
—iRI5E _
7Kim (°C)
1 _XE [KE(CC) =B hE 2IKiR A Fiin 18 R
48 Eh 18.1 15.5 15.3 26.2 6.0 BE kER-th| &|E
68 g 25.8 23.3 22.6 16.7 9.5 BE Exkfa-h| &R
8H N 26.0 27.3 25.9 14.5 9.2 BE Exfa-h| &R
108 £l 23.0 26.6 25.2 20.0 2.7 BE TR #BE
128 Eh 15.8 18.7 18.7 18.8 6.8 BE Exfe-E| &R
28l ®Bh 10.9 145 14.0 134 6.1 BE | HEe-R| H#E
4EFIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
=%1E] 1.8~83] 5.0LLE | 30LLTF — ERH 0.6LLF_| 0.05LLF
B (75%IE) - 8.1 1.7(2.1) - <0.5 0.48 0.018
4H == 8.1 8.8 1.1 = <0.5 0.19 0.014
th & 8.1 8.7 1.3 - - - -
65 =B 7.8 6.8 2.5 - <0.5 0.40 0.015
th & 8.0 7.1 15 - - - -
8 g =B 8.1 7.0 1.8 - <0.5 - -
th & 8.1 7.0 1.8 - - - -
108 =B 7.9 8.3 2.2 - <0.5 0.72 0.022
th & 8.0 8.5 2.2 - - - -
128 =B 8.1 8.8 2.1 - <0.5 0.61 0.022
th & 8.1 9.1 1.6 - - - -
25 =B 8.0 8.3 1.6 - <0.5 - -
B 8.1 9.0 1.1 - - - -
BEEIER (REDAHA
INSPINIES DS ED oA L IS fikeR |[7ZrxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#EE] 001 | FE#H [ 001LLF [ 005LLF | 001LLF [0.0005LLF | FEHEH JERRH |
E{E]  <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
47 - - - - - - - -
68| <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
8H - - - - - - - -
108] <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
128 - - - - - - - -
2Al - - - - - - -
ooroni| mie [1,2->200] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,1,2-ry4a | F)S0O0
"y &R IRy IFLY oaITFLY oT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EfE]  <0.002 ] <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
478 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8H - - - - - - - -
108] <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
2Al - - - - - - -




Fh5490n(1,3-o40 = St FARY S . MREERRU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #{E] 0.01LLTF | 000260 F | 0.006LLF | 0.003LLF | 0.02LLF | 001LLF | 001LLF | 10LLF
E{E]  <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.09
47 - - - - - - - -
68| <0001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
8H - - - - - - - -
108] <0001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.16
128 - - - - - - - -
2A] - - - - - - - -
ZDhIEE
IV L
Jx/—) R SS 2% (snakiLhA 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHME - - 1 <0.005 - -
=B - - 1 - - -
4H ;E _ _ -I — — —
—_ —_ 2 —_ —_ —_
- - 2 <0.005 - -
—_ —_ 1 —_ —_ —_
10R ; E - - 5 - - -
—_ —_ 2 —_ —_ —_
12R ; E - - 3 - - -
—_ —_ <1 —_ —_ —_
-ty I . .
(mg/1) (mg/1) (mg/1)
E¥E] 18000 <0.01 0.01
48 == 19000 - <0.01
th[E 19000 - -
65 == 18000 <0.01 <0.01
th[E 19000 - -
=B 18000 - -
8A —mE T 18000 . .
== 16000 - 0.01
10A thE 20000 - -
== 18000 - 0.01
124 th S 19000 - -
=B 18000 - -
2R —mm [ 19000 = =




THRISEE

A L C LK
5 2, TRy 8msE — COD¥F&! | A(F#BI =) ML TEE(ZOMDXE)
" St.6 EX-HER I (WS KR KEREESE (V)
—RIEH _
K& (°C)
1 _XE [KE(CC) =B fE 2 KE A Fiin =Xz R
48 g 20.1 15.7 - 10.6 7.5 BE -] #\R
68 g 27.3 22.6 — 13.2 9.5 BE -] #\R
8H N 26.0 26.1 - 9.5 8.5 BE Exfa-h| |2
108 £ 23.0 25.0 - 13.1 4.0 BE BB 8|2
128 Eh 15.8 18.4 — 13.9 6.3 BE Exkfa-h| &R
28| #Eh 11.1 131 - 14.3 6.8 BE | FRe-h) &S
4FRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEME| 78~83| 75LLF | 20LLF | 1000LIF | JEietH 06LLF | 0.05LLF
EHE(75%IE) - 8.2 1.4(1.4) - <0.5 0.17 0.013
4H == 8.1 8.5 1.2 - <0.5 0.17 0.013
hE - - - - - - -
65 == 8.1 7.1 1.3 - <0.5 0.16 0.009
8.1 7.1 1.9 - <0.5 - -
G . S — - : ; 7 3
8.0 8.8 1.4 - <0.5 0.18 0.012
10A ;E = — = — — — —
8.1 9.1 1.4 - <0.5 0.16 0.017
128 ;E ~ ~ = — — — —
8.1 8.4 1.2 - <0.5 - -
2R E = = . — = — —
BEEE (REBDHEHA)
NP INIESDY & ED Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 0018LTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - - -
oroni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
"y &R IRy IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8A - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - - -




FrS4H00(1,3-4n - . sea FAAL R .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 001LLF [0.00221F [ 0.006LLF | 0.003LLF | 0.02LLF | 0.01LLF | 001LLF | 10LLF
EF_EE — — — — — — — —

a8 - - - - - - - -
6A[ - - - - - - - -
sA[ - - - - - - - -
10A] - - g g B - - -
12A] - - g g B - - -
28 - - - - - - - -
ZOHEE
IT/— Vi SS LW | yOOkILA Tﬁ’_‘_’r,ﬁp
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EBIE] - - 2 - - -
ET: - - 1 - - E
—_ —_ <1 —_ —_ —_
—_ —_ 2 —_ —_ —_
—_ —_ 4 —_ —_ —_
10A ; E — — - — — —
—_ —_ ‘I —_ —_ —_
12AH ; E — - — _ _ —
—_ —_ <1 —_ —_ —_
28 —2E - - s - - -
i iggﬁ B
(mg/1) (mg/1) (mg/1)
SEI9TE| 19000 - 0.01
=B 20000 - <0.01
19000 - <0.01
18000 - -
19000 - <0.01
10A ; E ~ — =
19000 - 0.01
12AH ; E ~ — ~
19000 - -
28 —2E 2 - -



THRISEE

BA L CILHKE
5 2, T B — COD¥E®! (B(H#m) MPLTERWERERX)
" St.7 EXR-MEY W (e S) RAEKEREESE (V)
—i%IEH _
K& (°C)
1 _XE [KE(CC) =B fE 2 KE A Fiin =Xz B&
48 LEQ 20.3 16.3 - 20.8 6.0 ke axE-h| ER
64 Eh 27.0 226 — 14.2 8.5 BE B ke - mR
8AH Eh 26.0 26.5 — 14.7 8.1 BE B ke - |
108 £1) 23.0 24.8 - 14.1 35 BE aaf-E| &R
128 Eh 15.9 18.0 — 14.8 6.6 BE TRt mR
28 B 11.4 13.0 - 13.3 6.9 B | Hikf-h| &R
4RIRIRIBER _ _
oH DO CcoD KIBEERY In-~FHof 22% i
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEIE| 7.8~83] 50LLE | 30LLF — FERH 0.6LLF | 0.05LLF
EHE(75%E) - 8.2 1.5(1.8) - <0.5 0.15 0.013
4H =B 8.1 8.5 1.2 - <0.5 0.20 0.014
b= - - - - - - -
65 =B 8.1 7.1 1.9 - <0.5 0.11 0.009
8.1 7.0 1.8 - <0.5 - -
8.1 8.9 1.7 - <0.5 0.10 0.012
10A ; E ~ ~ =~ — — — —
8.1 9.1 1.3 - <0.5 0.17 0.018
128 ; E ~ ~ = — — — —
8.1 8.5 1.2 - <0.5 - -
2
BEEB (REBDHAEHHA)
A INIINIEDS ET) i A=A TS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E] 001LF | e | 001LLF | 0.05L0F | 0.01LLF 10.0005LLTF | JE#EH JEtRH |
EfE]  <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
48 - - - - - - - -
68| <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
8AH - - - - - - - -
108] <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
128 - - - - - - - -
28 - - - - - - - -
ooroni| mie [1,2->900] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | F)S00
sy B THY IFLy | BAIFLY | OIAY Axsy | TFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF [0.0020F [ 0.004LLF | 0.02LLF | 0.04LLF 1UF 0.006LLF | 0.03LL'F
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
48 - - - - - - - -
68| <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8A - - - - - - - -
108] <0002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
28 - - - - - - - -




Fh5490nm(1,3-o450 = St FARY S . MREERRY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| ELAE{E] 0.01LLF 1 0.002LLF | 0.006LLF [ 0.003LLF | 0.02LLF | 001LLF | 0.01LLF 10LLF
E{E]  <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.01
47 - - - - - - - -
6Bl <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
8A - - - - - - - -
108 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.01
128 - - - - - - - -
2A - - - - - - -
ZTD{hIEH
Jx/—) & ss 2@ |vooknn| A,
ZILTER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EIHE - - 2 <0.005 - -
=B - - 1 - - -
4H ;E _ _ _ — — —
—_ —_ 3 —_ —_ —_
7 - - ; ; - -
— — 2 <0.005 — —
ST, - ; - - -
—_ —_ 2 —_ —_ —_
10A ; E — = — _ — —
—_ —_ 2 —_ —_ —_
128 ; E — — = — — —
—_ —_ 1 —_ —_ —_
2
Bty | EEEY . .
(mg/1) (mg/1) (mg/1)
SEI9TE| 19000 <0.01 0.01
== 20000 - <0.01
4H ;E _ _ _
19000 <0.01 <0.01
19000 — —
19000 — <0.01
108 ; E ~ — =
19000 — 0.01
128 ; E ~ — —
19000 — —
2



THRISEE

BA L CILHKE
TiYBEsE CODE®! |A(H#EH) FRJIOAA
R4 | 5 pevm———,
St.8 EX-BED I GEBS) RREKEREESE (V)
—i%IEH _
K& (°C)
1 X [sECC) b fE 2 KE FERE iR =18 B&
48 Fh 18.9 13.9 - 2.8 2.8 BE keaf-h| &|S
68 g 27.6 23.9 — 3.6 3.6 B kaf-h| &S
8AH N 26.0 21.8 — 3.8 3.8 B kaf-h| &S
108 £1) 23.0 241 - 3.2 2.1 BE ERE-E| &R
128 gEh 16.0 14.2 - 3.6 3.6 B kaf-h| &S
28| f#Eh 11.5 13.0 - 3.6 3.6 EE | Hikf-h| &R
4RIRIRIBER _ _
oH DO CcoD KIBEERY In-~FHof 22% i
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
RElE| 7.8~83] 75LLE | 20LLF | 1000LLF | JERH 0.6LLF | 0.05LLF
EHE(75%E) - 8.3 1.7(2.0) 12000 <0.5 0.83 0.039
48 =B 8.1 9.3 14 - <0.5 0.87 0.016
b & - - - - - - -
65 =B 8.1 7.8 2.3 0.0 <0.5 0.32 0.027
8.1 7.3 2.0 - <0.5 - -
7.8 7.6 1.9 23000 <0.5 1.3 0.091
10A ; E = = = ~ — = =
8.0 9.3 1.3 - <0.5 0.83 0.021
128 ; E = = = — — — =
8.1 8.3 15 - <0.5 - -
2
BEBEE(RBODAEHA)
NI INIEDS ET) i f7 A=A T fikER |7L¥LKER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 001LLTF | JE#H | 001LLF [ 0.05LLF | 0.01LLF [0.0005LLF | JEHH JEtRH |
EfE]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 = =
48 - - - - - - - -
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
8hH - - - - - - - -
108] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
128 - - - - - - - -
28 - - - - - - -
ooyoni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
sy B THY IFLy | BAIFLY | AIAY Axsy | TFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
[ E#E{E] 0.02LLTF [0.0020F [ 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
48 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8hH - - - - - - - -
108] <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
2Al - - - - - - - -




FhS40n(1,3->4n = N FARY T . HRMEERERU
IFLy |ozaxy| FI34L | vvOY LI _RoEy LY ERREER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BB 001LLF (00024 F [ 0006LLF [ 000384 F | 002LLF [ 001L4F [ 001LLF [ 10LLF
EfE]  <0.001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.26
a8 - - - - - - - -
68| <0001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
8H - - - - - - - -
108]| <0.001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.50
128 - - - - - - - -
28 - - - - - - - -
ZTDHIEE
A
Iz/— ] SS SEMR | JOOFRIVL| 5 o
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHME - - 2 <0.005 - -
EYe - - < - - -
o e ‘ : : :
—_ —_ 2 —_ —_ —_
o m—— ‘ : : :
- - 2 <0.005 - -
e m— ‘ : : :
—_ —_ 2 —_ —_ —_
10A ;E — — = — — —
—_ —_ 2 —_ —_ —_
12A ;E — — = — — —
—_ —_ <1 —_ —_ —_
2
Bty | EEEH . .
(mg/1) (mg/1) (mg/1)
FEHIEl 12000 <0.01 0.03
RE 3000 - 0.01
=
18000 <0.01 <0.01
15000 - -
12000 - 0.07
10A ;E
7200 - 0.01
12A ;E
17000 - -
2



